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® 100cm? @1a ® 1ha
@ 10m? ® 1km?

3 o] 10m ¢l BAZP L Wolg 1a o 23, I of2etn

la = 10m X 10m = 100m?
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1km? = 100 ha = 1000000 m?
4.7km? = 470 ha = 4700000 m?
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918a =[ |ha =] |km?
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1km? = 100 ha = 10000a
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1km? = 100 ha = 10000 a = 1000000 m>
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5ha (O 5000m?
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5ha = 500a = 50000 m?
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50600g = |t
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1t = 1000kg = 1000000 g
50600 g = 0.0506 t
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0.6t O 6000kg
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0.6t = 600 kg
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21003 9] A 1 20 x 100 = 2000( kg) = 2(t)
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(1)6200ha = |km?
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1km? = 100 ha = 10000 a = 1000000 m?2
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(1) 6200 ha = 62 km?

(2) 27km? = 2700002 QY T}.
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HE T 3500ha

7km X 5km = 35km? = 3500 ha
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(1)0.025ha +0.018km? +4la=]  |m?
(2) 24700m? + 31.6ha + 174a = |km?
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(1) 250 m? + 18000 m? + 4100 m? = 22350 m?
(2) 0.0247 km? 4 0.316 km? + 0.0174 km? = 0.3581 km?
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D 350m? =35a @ 5.6km? = 5600 m?
® 3700a = 3.7ha @ 17t = 1700kg
@23000000 g =23t

B

® 350m? =35a

@ 5.6 km? = 5600000 m?
® 3700a = 37ha

@ 17t = 17000 kg
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@ 0.56 km? © 800m x 200m
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5% 2o g9z TAA HgU,
@ 0.56 km? = 5600a

© 800m x 200 m = 1600a

© 0.48km x 270 m = 1296a

® 64 ha = 6400a

@ 5740a

®@>0>0>0>0
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105 x 68 = 7140(m?) = 71.4(a)
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9kg —» Dg
300g —» @kg

58t =Qkg=Dg
4600g = 4.6kg = Ot

@ 90000 @ 0.03 3 58000
@ 53000000 @0.0046

1kg =1000g , 1t = 1000kg , 1t = 1000000 g
@ 9000 @ 0.3 @ 5800 @ 5800000
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1t = 1000kg
4.5t = 4500 kg YUt}

4500 + 28 = 160.71 - - - (7)

wetA, FAHE 160 N7HA] A& 5 YT




1km? = 100 ha = 10000 a = 1000000 m?
1km? = 1000000 m?

AR Wol 1 5x5=25(m?)
1000000 + 25 = 40000(HH)
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(2] Hol)= 500 x 600 + 2 = 150000( m?)
1
(2] Blol)= 150000 x 3 = 50000( m?)

wrehA], 50000 m? = 500a = 5ha YUY},
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0
E

| 2
[> HEh: 1.74ha

(130 + 160) x 120 + 2 = 17400( m?) = 1.74( ha)
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7}29] Zo]8 p2ta o
34=(0+5)x2,
Oo+5=17,

O =12(cm)

— 60 m? = 600000 cm?

w2hA Yol 12 x5 = 60(m?) Yy th
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3AIZF 45 B2 3.75 A7+ Yt

(B9 )= 540 x 3.75 = 2025( kg)
2025 kg = 2.025t
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300m? = 3a °]|B 2
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25 x 140 = 3500(kg) = 3.5(t) YUt
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ZA-2oldlE 3.2ha 9] =oll A & 5.6t & AR, WFlE 4
o] ol A & 7920 kg 2 AATSIALSUTH 1a & AL o
2 kg © B5U7P?

®© 7L, 1kg @ 72,0.1kg ® w4t 0.01kg
@ W, 1kg @UJ%, 0.1kg

~&B \

A2old 1a & AYAHEF : 3.2ha = 320a,
5.6t = 5600kg = 5600 = 320 = 17.5( kg)
Ayl 1a S A4 ¢ 4.5ha = 4504,
7920 + 450 = 17.6(kg)

wretA B 7F 1a & AJateFol

17.6 - 17.5 = 0.1(kg) B @&Uth




